A= Ssoi=2R M A ERL
Ha: ZMQUS 01)|Y 25
CHR[: MAF DIEIAIE &5 (CH M)
A2 2N T O3 - NIRAY - BES Ofl ko i HimE==l
A TSRS 54,709,411 52,924,570 1,784,841
= 10,360,841
s 20,294,392
& 24,054,178
AUHU= HYIIB &= 54,669,956 52,888,334 1,781,622
= 10,360,841
s 20,294,392
& 24,014,723
A J|EIAIE &S 28,582,787 34,159,665 A5,576,878
= 761,000
s 20,294,392
& 7,527,39%
HAZGHO & 2HE (XIKEH) (AU AEHZEAR (S 12) 52,000 52,000 0
= 26,000
& 26,000
308 AXIHHMSOIA 52,000 52,000 0
= 26,000
< 26,000
1 SI 2SI CHEHE & E2EFAMSHI 52,000 52,000 0
OHOIHY AEHZ A} 52,000
= 26,000
= 26,000
MIHLHRES(21) 547,357 507,857 39,500
= 485,000
& 62,357
403 RXISHMSKH=201H 547,357 507,857 39,500
= 485,000
& 62,357
01 MXISHHMA=ZE X 547,357 507,857 39,500
OMEHLENH T ESAHY 547,357
= 485,000
< 62,357
AN Y Makd SO 390,100 126,800 263,300
202 04| 11,000 10,000 1,000
01 =WHO4HI 11,000 10,000 1,000
OAHIZHHY Matd SOALY X2 11,000
307 QI2H01 ™ 18,000 18,000
02 QIZtBAAIHE X 18,000 18,000
OZJ-A0IEAHS S| XI- 18,000
308 XX MSO0I& 361,100 88,800 272,300
01 AXEHBAEES 161,100 88,800 72,300
Q=419 & J|EEAL KI 35,000
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e A AR
2AMAQI ORI 2B
AR JIEIAIE &5 (CH M)
2 2A B SRI(EH) - NRAY - BES ofl &t i HIDEZ
oolgel stotstal XA 20,000
O=JtAtel ==0HAH 56,100
OHEZ U0 NHAZ A 50,000
11 I 2S0UEHE & EASAISH 200,000 0 200,000
OZEMIMEAS XA 200,000
gog 224 70,000 775,612 AT705,612
401 Al2HIZL 200t 70,000 775,612 AT05,612
01 Al&H] 70,000 774,000 A704,000
OZESENXE EXIE &X 70,000
HEZ=01EHe 440,000 522,000 A82,000
403 MR MSH=0lH 440,000 522,000 A82,000
01 MXIHHA=E X 440,000 522,000 /82,000
OEAHE0E =& 440,000
THoHF oF XIZLHE AIZEHI(HEAY) 3,300,000 5,000,000 1,700,000
401 AlZHIZ 201 3,300,000 5,000,000 A1,700,000
01 Al2H] 3,293,000 4,989,200 21,696,200
OTHHF 2 XIS AIEEHI(ME) 3,293,000
03 Al& 2 CHHI 7,000 10,800 3,800
OTHTHF < X0 AIEFHI(HE) 7,000
Lo LS5} 185,688 145,840 9,848
403 MR SHHSAH=01H 185,688 145,840 9,848
01 AXISHA=Z 2L 155,688 145,840 9,848
OFXIY Jisel AIZH| X 33,600
O HFAAOIFE)AIE N 74,088
OolE oA Al XIH 48,000
O1Z&7E300(2021)(=12) 11,686,754 10,197,952 1,488,802
o 10,355,352
= 1,331,402
403 MR SHHSAH=01H 11,686,754 10,197,952 1,488,802
o 10,355,352
& 1,331,402
01 AXISHHA=Z 2L 11,686,754 10,197,952 1,483,802
O E=E300(2021) 11,686,754
o 10,355,352
= 1,331,402
HEFE300(2022)(=12) 7,968,888 0 7,968,888
s 7,061,040
= 907,848
403 AMXIEMSA=01A 7,968,888 0 7,968,888
o 7,061,040
= 907,848
01 XM= 2L 7,968,888 0 7,968,888
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Az psHEe SN AR
HE: AWAYS 0YIIE BHE
CHR[: MAF DIEIAIE &5 (CH M)
U224 BHO(S) - MRAE - BAS ofl &t i HIDEZ
OO0 &= E300(2022) 7,968,883
[ 7,061,040
S 907,848
LBts MU ENL (1) 1,898,000 606,000 1,292,000
= 1,898,000
403 XIS K=201H 1,898,000 606,000 1,292,000
[ 1,898,000
01 MHXIHHAZE X 1,898,000 606,000 1,292,000
OAlZ S22zt 140,000
[ 140,000
OO EHI0t0tE 1,758,000
[ 1,758,000
HESSHAALH X (Z2D) 500,000 500,000 0
= 250,000
& 250,000
308 NHXIEHMISO0IH 500,000 500,000 0
= 250,000
[ 250,000
1 SIS0t 3 SRS A 500,000 500,000 0
ONESSXAHH XA 500,000
= 250,000
= 250,000
OEdgssd 48,000 30,000 18,000
308 XXM SOIA 48,000 30,000 18,000
11 SIS0 U3 4R AS A 48,000 30,000 18,000
OSZAY AHEE & AUt 48,000
oEgdsd(=0) 1,106,000 0 1,106,000
= 980,000
& 126,000
403 AXIEHMS =01 1,106,000 0 1,106,000
s 980,000
= 126,000
01 XXX A= 2 = 1,106,000 0 1,106,000
oolEg=sdxa 1,106,000
= 980,000
S 126,000
g ofl=Z2= A& JHE XA 270,000 270,000
403 MR HMSKHE0lH 270,000 270,000
01 AXIEHH A= 22X 270,000 270,000
SEE Z0HdH =S AlE e 270,000
HEAIE e & &E N 150,000 150,000
403 AXIEHMS =201 150,000 150,000
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Az psHEe SN AR
HE: AWAYS 0YIIE BHE
CHR[: MAF DIEIAIE &5 (CH M)
U224 BHO(S) - MRAE - BAS ofl &t i HIDEZ
01 AXISHHA=2EXE 150,000 0 150,000
OLE= g HHEAL =F 150,000
201y =4 21,772,269 14,072,069 7,700,200
= 8,749,841
& 13,022,428
oS A2 10,000 10,000 0
207 A= 10,000 10,000
01 A2EHY| 10,000 10,000
O==&tS A 2 A& 10,000
EBUUXES (I EEZ)(R12) 158,482 0 158,482
= 144,075
= 14,407
403 XIS =201 168,482 0 168,482
= 144,075
S 14,407
01 RIS ZE X 168,482 0 168,482
OJlEBLES 168,482
= 144,075
& 14,407
IERHEEZ(=21) 43,890 40,629 3,261
= 34,137
= 9,753
403 MXIEMSA=201H 43,890 40,629 3,261
= 34,137
= 9,753
01 AXIEHH A= E X 43,890 40,629 3,261
OCIsRHEES 43,890
= 34,137
= 9,753
AOHOIE MAIH 2cl 1,473,320 1,467,440 5,880
201 Ler=a| 4,500 2,940 1,560
01 AtR2telH] 4,500 2,940 1,560
OctHE MAH 2l 29 3,500
OADIESA SAH ZdAME =T 1,000
202 04l 9,000 11,300 A2,300
01 20| 9,000 11,300 A2,300
OStNE MAHA 2| 29 6,500
OADIESA SclAH &AM =T 2,500
403 MXIEHMSAHE01H 1,459,820 1,453,200 6,620
01 MHXIHHAZE X 1,459,820 1,453,200 6,620
Ol Ay XI&A 232,800
OR8dx: 2= 150,000

- 1096 -




W EER 2
LAWY oYY BB
L Jl2s0Y g4

U224 BHO(S) - MRAE - BAS ofl &t i HIDEZ
O20IMA detd £d 360,000
Odfl & SatAAHA 24 708,200
Ogdol S g K& 8,820
FUME MRMAT ZH(SIEEXY) 750,000 600,000 150,000
403 MXIEMSA=201H 750,000 600,000 150,000
01 XIS =E 750,000 600,000 150,000
OFAHMS AMBHAAT KA 750,000
ST LR (HEBAL) 1,398,068 1,382,000 11,068
403 KX SIS RH= 0/ & 1,398,068 1,382,000 11,068
01 XEXISHHIXFE 2 X 1,186,000 1,186,000 0
OFMETINLLR (TS 1,186,000
02 ST 2SI etA =2 2 E A 207,068 196,000 11,068
O SNNLYF SUHTANES) 207,068
BiCte 28 (HEAY) 800,000 1,000,000 200,000
403 AXIEHMSA=201H 800,000 1,000,000 A200,000
01 AXIEHH A2 2 800,000 1,000,000 A200,000
OHtCts T4 (A 800,000
IS ZAS (HEAIY) 1,250,000 1,250,000 0
401 AIEHIYL SO 1,250,000 1,250,000
01 Al2H] 1,246,000 1,246,000
OQBOIZAIL (M E) 1,246,000
03 Al 2 0HHI 4,000 4,000 0
OQBUHZAIL(HE) 4,000
HEOHEESE2(HEAY) 250,000 200,000 50,000
403 AXIEMS =201 250,000 200,000 50,000
02 SI|1 2SSt =X A A 250,000 200,000 50,000
ONZHEESE2(HE) 250,000
A2 HIEAIZ ZEM(=1) 13,229 0 13,229
= 13,229
308 NHRIEMSOIE 13,229 0 13,229
= 13,229
01 AXHHBSELS 13,229 0 13,229
O EZ=LE HIEAME HEM 13,008
= 13,008
OTEHFLE HHEAIZ ZEM(REHI) 221
= 221
HAEIZS £H Mol X& AHG(=1) 14,280 0 14,280
= 8,400
= 5,880
403 AXIEHMSA=01A 14,280 0 14,280
= 8,400
= 5,880
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gL SA  aMEE
D AWBAYS ofI|Y BE

S;II llz=og =4 (CH M)
A2 2N T O3 - NIRAY - BES Ofl ko i HimE==l
01 AIXIHH K22 X 14,280 0 14,280
QHAEIZE 2HE M2l XAJAAS 14,280
= 8,400
& 5,880
LASME MoHE2EZ K2 16,000 22,000 26,000
308 KXIHMSOIH 16,000 22,000 26,000
01 HXSHHBHEES 16,000 22,000 26,000
OLal=4t=2 MollE28z XA 16,000
D=2 S XA(=21) 100,000 100,000 0
= 100,000
403 XX HHMS K201 100,000 100,000 0
= 100,000
01 AIXIHH A 22X 100,000 100,000 0
OLn=2 s XA 100,000
= 100,000
ADIELA! 22AH ZHMS(HAEHIE 25)(=1) 12,000,000 7,500,000 4,500,000
= 6,000,000
= 6,000,000
403 XX SHMSK201AM 12,000,000 7,500,000 4,500,000
= 6,000,000
< 6,000,000
02 I 2SH e X2 X AELAIE Y] 12,000,000 7,500,000 4,500,000
OHAEHE F=5 12,000,000
= 6,000,000
== 6,000,000
AIELA! 2{AH ZHAMS(WHEREX JEIEH) (2 3,500,000 500,000 3,000,000
1)
= 2,450,000
= 1,050,000
403 X SHHS K201 3,500,000 500,000 3,000,000
= 2,450,000
< 1,050,000
02 I 2SHHEHAHE2 X LAEFAIZ Y] 3,500,000 500,000 3,000,000
OU=E=X JlgtxH 3,500,000
= 2,450,000
< 1,050,000
SAIE =4 & 4= IOFXIAHD 4,314,900 4,656,600 A341,700
= 850,000
= 3,464,900
ohAH B - EXXIEAE (= 1) 1,100,000 1,200,000 A 100,000
= 550,000
= 550,000
307 21201 ™ 1,100,000 1,200,000 A100,000
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2 sEi=s SA MR

Ha: AWRYS Y|P 2B

G2l REAIE X8 2 A4S EHD (crol:m2)
U224 BHO(S) - MRAE - BAS ofl &t i HIDEZ
= 90,000
403 AXIEHMSA=01H 390,000 195,000 195,000
= 300,000
[ 90,000
01 MHXIHHAZE X 390,000 195,000 195,000
O=4HAE D34l XIS 390,000
= 300,000
= 90,000
SAUERSAE HE(HEAY) 1,225,000 1,937,800 AT12,800
403 NMXIEHSK=201H 1,225,000 1,937,800 AT12,800
01 RIS = E X 1,225,000 1,937,800 AT12,800
O=LESATE-SHAI(HE) 735,000
OxAtESATE-DE 2 (HE) 490,000
AH2SIH(=4EHD) 39,455 36,236 3,219
Jl=8Hl 39,455 36,236 3,219
FANE2E Jl=&8HI 39,455 36,236 3,219
201 get2a| 21,489 20,001 1,488
01 At 2telbl 21,489 20,001 1,488
OR A2 AR2clH 21,489
202 O 13,766 12,635 1,131
01 =LA 13,766 12,635 1,131
FAMEE =Uo 13,766
203 =8| 4,200 3,600 600
04 FAEZE R 4,200 3,600 600
©2521 0lat 350,000 10 A 123 4,200
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